


















Find the Missing one  (?)

19 (36) 13

37 (81) 28

43 ( A ) 38 

(A) 49

(B) 25

(C) 34

(D) 64



Find the Missing one  (?)

(A) 42

(B) 46

(C) 34

(D) 36



Find the Missing one  (?)

SING = 23

DEEP = 10

FOUR = ?

(A) 21

(B) 32

(C) 36

(D) 16



Find the Missing one  (?)

JAR = 181

HER = 149

SIT = ?

(A) 298

(B) 389

(C) 413

(D) 294



Find the missing  :-

1. 1
2. 2
3. 3
4. 4
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14 20 16

2 2 ?

3 6 5

4 4 3



Find the rectangle   (?)

1. 25
2. 27
3. 28
4. 29
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Find the MISSING  (?)

(A) 18

(B) 19

(C) 20

(D) 21



Find the MISSING  (?)

44 + 12 = 30

77 + 14 = 61

33 + 11 =

(A) 20     

(B) 21  

(C) 22

(D) 23



Find the MISSING  (?)

M : 8 :: S : 20 :: K : ?

(A) 4

(B) 8  

(C) 12

(D) 10



Find the option which should replace (?)

17 : 4 ::  37 : ?

(A) 4

(B) 6

(C) 12
(D) 7



Find the missing  :-

51 * 3 – 5 = 22
18 * 2 – 1 = 10
80 * 16 – 8 = ?

1. 17
2. 22
3. 12
4. 13
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Statements: 

All woods are chairs. 

No chair is a table. 

Some tables are copies. 
Conclusions: 

Some woods are definitely tables. 
No table is a chair

EXAMPLE

कथन: 
सभी वुड चेयर हैं।

कोई चेयर टेबल नही ीं है।

कुछ टेबल कॉपी हैं।

ननष्कर्ष: 
कुछ वुड्स नननित रूप से टेबल हैं।

कोई टेबल चेयर नही ीं है



Statements: 

All woods are chairs. 

No chair is a table. 

Some tables are copies. 
Conclusions: 

Some woods are definitely tables. 
No table is a chair

EXAMPLE



Statements: 

All brinjals are vegetables. 

Some vegetables are potatoes. 
No potato is tomato. 

Conclusions: 

All potatoes being brinjal is a 
possibility. 

No vegetable is a tomato.

EXAMPLE

कथन: 
सभी बैंगन सब्जिय ीं हैं।

कुछ सब्जिय ीं आलू हैं।

कोई आलू टम टर नही ीं है।

ननष्कर्ष: 
सभी आलू के बैगन होने की

सींभ वन है।

कोई सिी टम टर नही ीं है।



Statements: 

All brinjals are vegetables. 

Some vegetables are potatoes. 
No potato is tomato. 

Conclusions: 

All potatoes being brinjal is a 
possibility. 

No vegetable is a tomato.

EXAMPLE



Statement: Why don’t you invite Sandeep for the Diwali party this year.

Assumption :

(I) Sandeep is not from the same city.

(II) Unless invite Sandeep will not attend the party.

कथन: आप इस वर्ष निव ली प टी के नलए सींिीप को आमींनित क्ोीं नही ीं करते हैं।

पूर्वधारणा :
(I) सींिीप उसी शहर से नही ीं है।

(II) जब तक सींिीप को आमींनित नही नकय ज येग तब तक वो श नमल नही ीं होींगे ।



Find the Missing one  (?)

9 : 52 :: 12 : ?

(A) 49

(B) 90

(C) 78

(D) 70



Find the Missing one  (?)

12 : 312 :: 10 : ?

(A) 218

(B) 230

(C) 226

(D) 220


